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‘One Variable Statistics (for reaction times)

Without Stretching | With Stretching
Mean 314
Standard Deviation _| 836 i
Lower Quartile
Median 28
[Upper Quartile 405
Inter Quartile Range | 1.65
inimum x value | 23
Maximum xvalue | 4.6
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For reaction times the data s much more.conclusive than it was for unforced errors. As
we can sce from the table the mean, the standard deviation, the median, both quartiles,
the inter quartile range and the minimum and maximum values were all decreased from
the WOS data to the WS data. We can see that not only is the data more centered around
‘one point but also the average time it took to reach the ball was also decreased. As we

an see from the box plot the data for WOS is much more sporadic, the outliers are much
‘more defined. In tennis it i very important to reach drop shots quickly not only to get the
shat back in play but also because the earlier you get to the ball the higher up the ball will
‘. This means that you don't have to hit the ball up into the air as much thus taking away
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the opportunity for an easy kill shot from your opponeat.
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One Variable Statisties (for reaction times)

Without Stretching | With Stretching
Miean 188 138
‘Standard Deviation | 209 172
Lower Quartile 155 T2
Median 19 14
Upper Quartle 22 155
Tnter Quartile Range | 65 35
[Mimimom xvalue | 15 i1
‘Maimum x value | 2.3 16
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Flere we sce that there was 2 dramatic change between WOS and WS. Al of the figures
‘were decreased although some, such as standard deviation, were decreased more than
others. The reason for the median and mean not being decreased as much as with some of
the other results is almost the opposite of Student 2. That i, Student 3 s in quite good
‘physical shape and therefore stretching is only going to make him so much faster. Once
you reach a certain level, an asymptote if you will, it is not possible to go any lower. But
since Student 3 i in better physical shape and is a faster runner, it becomes much more
important from a safety standpoint from him or her o stretch since the chance for injury

is heightencd.
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rmula for the weight of a polished diamong
2.1 he Cullinan

“The other part o the project consisted of looking at  very famous diamond, the Cullinan, which i the
world'slargest diamond and see how much percent of it was lost while polishing and how much
remains. The Culinan was divided into 9 pleces and thelr weights(in carats) are gven i the table 7.
Cullinan 1 i the lrgest piece polished from the Culinan they are numbered i order from the largest to
the smallest. The third row shows the percentage that the plece isfrom the initial weight of the rough
diamond.

Graph 2

o char Cullinan

Culllinan division |

5 [ corats | percentage
o oo R Wi o 2051 6.0
| [eutinan 1 | 5302 71
mculinant | [Cylinan2 | 317.4 02
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mculinen3 || Collinan4 |~
aculinna || Collnans
Scutians | [Colinang [ 115
| [Cltinan7 |88
*CUinanG | [ Cilinans |67
cutinan? | [ Ciinan9 |43
Culinang | [Total | 3106
cutinang =

The data from the table are presented n the form of a pie chart, As the ple chart shows 663% percent of
the diamonds iniial welght s lost the largest part of the diamond only represents 17% of the diamond!'s
rough weight. While the second largest piece polished only represents 10% of the diamond's weight.
am using this famous example in order to attempt to demonstrate the large mass that s usually lost
whilst polishinga rough diamond. All polshed pieces give about 34% 50 almost 2/3 of the original
diamond was lost.





